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SET-4
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Q.P. Code
e 4. qlienell e HI8 I IT-YEdHT
Roll No. QI8 T I fad |

Candidates must write the Q.P. Code on
the title page of the answer-book.

o WA H TR w19 1 AR fom MU WA S w1 whenedl SeR-gfEe % 1E-YE W
S il ;,
o HUA W H A o6 30 T H 10 9 § |
o HUIAT T HT I @1 I[E A | Uget, IW-YIEdehT § T T HHTeh AT9T
- o :
e T WU I UG % w15 fime o e fem e @ | v e T gty f
. 10.15 & foRam ST@W | 10.15 99§ 10.30 S dh BT hdd IA-IF hl UeN I

39 AT o GRH I IRl T hIg I a1 fora | 5‘

- o Please check that this question paper contains 11 printed pages. :
- o Q.P. Code given on the right hand side of the question paper should be written :
f on the title page of the answer-book by the candidate. '
' o Please check that this question paper contains 10 questions. :
. o Please write down the serial number of the question in the .
: answer-book before attempting it. ;
. o 15 minute time has been allotted to read this question paper. The question
. paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the :

students will read the question paper only and will not write any answer on
the answer-book during this period. :

wepan (HigEn) T

SANSKRIT (Core)

G4l : ERIGTY qUIST: - 40
eiia a7 : 2 g2 SfeHTH 37 : 40
Time allowed : 2 hours Maximum Marks : 40
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General Instructions :

Read the following instructions carefully and follow :

(i)

(it)

(i1i)

(iv)

22

This question paper contains three sections — Unseen Passage, Writing
Skills and Textbook Based Questions.

Section A (Unseen Passage) — contains four parts and attempt all parts
of questions with choice based on specific instructions given in the

question iteself.

Section B (Writing Skills) — contains three questions. Attempt all three

questions based on specific instructions given in the question itself.

Section C (Textbook Based Questions) — contains main six questions.

Attempt all questions as per the instructions given in the quesion itself.

Section A
HUTATCHSRT: TIAT: 40 37T
AUfeaTIateqTy
AafSa-TaATEA
Unseen Reading Comprehension 10 375T:

FYIfARad ey Ifecat JEaH T H&had 3Ad ¢
frifcTRaa e sl gt Yed ST o I TEhd § G

Read the following passage and answer the given questions in Sanskrit :

TR W Sfdereaed HAiEd | T ° HIHA GaHEIHTH, 39 Ggeh HATEd |
3 Td g eI Wafd Iq #8: I sicaad ey | W wea: e
TITIERE $eH AT IR 7 g oM | 19 9 9 AHeae J9a:
ek qU:, Ithod — “HAT TUS: WA F ;7 | AW FESYRNIVN HehoqsTih:
YT Had, d S @H: | I I ST ScaTeladl: HSHHishaeied gt
YT J Pdf~d, d FAET GAr: Yafd | TR I-edr], T@as Sl | od:

A 39, TSd: 91 Hhedd STy 91 a8 Ad: geHhed-fasheddl: Td
T WS |
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q94qT:

(31)

TehUcH 3T | (hadl ITIIdseTY)
Teh I6¢ W I AT | (Shaet IR )

Answer in one word. (Only four questions)

(i)  ¥H: shigem Al ?

(i) TRl wg: o ggsntq HfEd ?

(ili) T =T SieTan SRy 2

(iv) SISSYENTUI Sl JaeTl vafd ?

(v) S QUS: 91 §99: Al U9 3T Wd ?

UIETRA 3T | (had TegIH)

Ul 9T H I G | (Shad & )

Answer in a complete sentence. (Only two questions)
(i) wEa: Hipsre foh e ?

(i) o THA: S ?

[

(iii) o H9ET qUiSdn: wafd ?

I =B TYfad ek for@d |
39 =08 &1 dYfad 3y fARau |

Write a suitable title for this passage.

TG 3TA | (Shadd JeTY)
FeaTgER I T | (Fad o T2)

Answer as directed. (Only three questions)
(1) ‘srfdeeaem’ 3fd ygea faersy fog ?

(i) ‘Taay 3fd qewa focmug foh TRy ?

(iii) ‘et i Toramaeer o Hqug ok TIHA 2
(iv) ‘9.’ i yee wafaag foh TRy 2

Page 3
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Section B
TEATCHER -SRI
TATCHh-h T
Writing Skills

A oia: | WafEd dideh: TOHUSH SEhATEH-NRAINARET YW gRERR
YA | T F9iaRg fifad T Aegumiea-ue: freamgfd seam 9 q4: foreg |
39 30 & | ek T A9 A 9 HUSA H TR WIAART § YoM
qUEhR T fohaT 8 | 36 91978 ¢ o T fof@ 7T o & Ho[w & U 7q wreef &
ok T i qfd ek 9 Bl I4: Tafaw |

You are Arnav. Your friend Sarthak has got the first prize in the

competition of ‘Sanskrit Gayan’ at the District level. Given below is a
letter to congratulate him. Fill in the blanks from the words given in the

box below and rewrite the same. ZOXé =5
___
fomg:
S g&e (i)
auy 99: |
I e, 9N FEhaTRANTRIRaTT (iii) JIH JIEHR
(iv) | wed Ty T (v) _ wuef | Hehdu
gfd  vad: ARl (vi) WIW:W
FERTEASRIAARE 3T (vii) JEAT | Tdchd Hederd:
oIS (viii) Rlg | v w@iHal i #
(ix) [EECSIRIE
REEREEEY
(x)
HSTHT

ITAHVS, |IYh!, TeHaH, uiE:, AAeh, g9, TEfd:,
B, JIWTG:, JOTHET: |
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(%)

AoSNTIGTRIeeH] TgRaal AYifaaRadr agsaml  Rream- R
HT 1: Toreq -
ol ¥ fou U vregl h wEwan ¥ e et e § e T et

AT Sl 1: fARaT
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same : ZOXE =5

T ARATT T Th: Aoges: () 1o, “HERS | 318
Ted WEA: e | (i) TUTe: HAMY U 9 |7 HERN:
dged — “@dueH g IMEH U I (i) __ Yo, ded 3T
afesnfly | o g wEem Gv) T A |7 W oHcqey: e
TISAT ShIEHTIRA U T gge: IHad | T6: 3919 — “Igg HAATH aq

HIEAfd YoM |7 TavHd, TegEs: (v) ShadM | TTe: IFeed, —
“@ T v e =S a9 "H: (vi) M geed |
HUS FET (vii) e, M R (viid) req
vord: shid: ITeRIHT  (ix) wigsafd | Id: mEas: 9dd
(%) Ieh: fom: = wald |

HsTHT

I:, SHIER[:, S, -drad:, TEgq, T8, g,

o 2 N\
JIdAT, Hcdl, "aTHEAT |

AT (OR)
FIfARgq-HaTg Nream T @q

fforiad Tare § o e vt
Fill in the blanks in the conversation : 5x1=5
S7ETH; — Wi | T T ST A T Tgehrd e T Had ?
prer: — () |
37eq19eh: — TUqed: TUiE: SarTd: | a1 fob STad, ?
preg: — (i) |
Page 5 P.T.O.
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(%)

37eT9H; — U |8 TWhaHl, TTedl Y= ot foh goed ?
Rreg:  — (i) |

37eqT9H: — oF HAT-ETR Tk iy ?

R — (i) |

37eT9H: — qd Gral Wiasald shieerd | ThgiH, UldaTiiengsea higer ?
rrg: — (V) |
SEgF; — qEd: ThGH 98 AWAH, 3Td HEw@qUl = HAfEd | 1

RCTEIATH UfTgTiIehgsedl IHgiH df=i | a1 Aawawa
ST |

‘“Iaeer:’ 3fd faw TR Jeoseg — FERaE AYAl EASedu
TSRy Uy 3eag fored |

‘I <1 T T AT | fou U Sreg) 1 HERdT € 31eE] WA €9 9
qfe el | T Aweg fofau |

On the subject of ‘Bharat Desh’, write a paragraph in five
sentences with the help of given words in the box below or

independently. 5x1=5
HosTHT

Taa:, 1947 99 v, foemer: fooeft, wsewmwn, &=,
Trefiaam, fafaen: efawmm, waifo, @, T, T,

— . o
dal~d, HI&hldeshgsIdT |

Y4t (OR)
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(@) fmAfRaqameRy huser gou aeHl S6had A% Hed
ffctiad aTeli W | foheal @ier TRl Sl T%hd H 3TATG hITWIT
Translate any five sentences from the following sentences to
Sanskrit : 5x1=5

() i o1 e Sme |
Aaditya will go to village today.

(i) ST T & A1y e g |
The boy runs with friends.

(i) WA <t Toar foeett 2 |
Delhi is the capital of India.
(iv) T gt fea § afas 2 |
The Ganga is sacred in all rivers.

(v) & gl AR 9& 2 |

There are trees on both the sides of the river.

(vi) TS AT ! I <aT 8 |
The king gives clothes to the beggar.

(vii) U€ @ u fid 2 |
The leaves fall from the tree.

Section C

gfsaraaieaTy
afsa-sraaiea

Reading Comprehension

ARG T gfScal TEIaTaH SR TEhd- I
freaferfiea merme 1 gt IW W MY T9AT o I @Ehd H AT

Read the following passage and answer the questions based on it in
Sanskrit : 3

UGS ﬁq“’g?fl“él?ﬁ el ol o wied. | a9 aige 9 3fd G
U | |: Ig qogaryehedql Udr gIesl S’ el HEATHICA, e 31T Goo
TeeeHce 99 9 9 ddigd  fOarame —wee TSaaeH - IR R e
TEIIE™ TSd YA TSy, d¢ dRbdarg: | AY 91 9 ¥ F gedll
TSIAMTIENTICT ARRATT qe1 gty TS g7 | YAeTHasosesd 3id o= TS
HoSI Gl dgedy WISTHICH JH1 |

Page 7 P.T.O.
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]

(3)

UehUCH ITHA | (had IegIY)
U Yeg U I ST | (Shaet g I9)

Answer in one word. (Only two questions) 2x—=1
() Trge= S99 I3 9uei ?
(i) GRS fob A8 TS IS RUTER ?

(i) 9N hidaries: ATEHq Ig T o fawd Femaammme 2

qUIETeRA ITRA | (Shadd T9-ehy)
9 TRy H I T | (had Tk TR)

Answer in a complete sentence. (Only one question) 1x2=2

(i) TSI SATHA: S HATeaT foh fo=mEmm 2

(i) T o foamd TS gou Sreeq ?

FYIfARgd Tamel qiocal AreTaM T, F&hdd 3T :
frafcTiaa T sl 9geht 30 W STLTNG T < 3L T&hd H GINIT

Read the following part of a poem and answer the questions based on it

in Sanskrit :

(31)

ThATY AT, Tt e |
MBI Hol |d, JAT g0l & ||

TehUCH 3T | (had JegIY)
U Yeg U I ST | (Shaet g I9)

Answer in one word. (Only two questions) 2x—=1

(i)  THATY ohd ol INAA ?
(i) S0 o dedr wafd ?

(iil) HIAT Fo higyl wafd ?

Page 8
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(e1) qufaTeR ITRA | (Shad TRAY)
Ul 9Te § IR I | (Shadd Teh )
Answer in a complete sentence. (Only one question) I1x2=2
(i) &9 HoA higeH AU AT =T ?

(ii) U T ATHICAT T ?

ARG ATl UfScal TEETHNAH T, FFhdd 3T
ffcTRad JTeaITeT i dgeht 36 W SMETRA T o I T&hd § ST

Read the following part of a drama and answer the questions based on it

in Sanskrit : 3

PUST — TEEAHH e SRR FRAHI AUy | T 1 fa=mon 2

TErTET — JATE URATH YR W @ieued TmuEfd | gudl & gt
Hu: JrAfest: a1 gd giiaa™ a1 @1 fsfia a&g oTmEiq |

FUEeT — Tasfia q Tfq R Jfafcewea won g fawaion: omefq sfa s |

HETTE] — ETelg: Tucl e, O Uled = Sagel 39l fefshicer | wifed o
HARY: 3¢ TcilUg TFIhY |

94T

(37) Uhded A | (Shadd JegaH)

T ¢ H IR GIY | (had @ TH)

Answer in one word. (Only two questions) 2x = =1
(i) RN SR aTqueE watd ?
(i) JE¥: AT TATUI T ?

(iii) BRETET Tl &1 AT ?
(1) qufaTeR ITRA | (Shadl TRAY)
qUl 9T H IR GNT | (hadl Teh TH)
Answer in a complete sentence. (Only one question) Ix2=2
()  Frufsst: =i 7d gTiaa ?
(i) BRwErg: T Fea A0 fshidar 2

Page 9 P.T.O.
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AYTARIAR Toeg Hrene Hes[uTIeayue: R g4: fored ¢
frferRad wer 1 W w9 § fou MU sreel | weeRt 4 faRa

Complete the central idea of the given verse with the words given
in the box below and rewrite the same : 4><§ =2

Brfay e gr amHETeEA: |
S HIFEALT ATHEAHTCIT oiq ||

wrae:
T SRS SIS AIEHA STRA T4 (i) Iq M
Hig: (ii) T AT TR AT (i) af |
AA: I: S WehE HANIHTSd H: UANd R caid
(iv) |
ST
N, SteRfd, A, grofT
AUqdT (OR)
YT g wranef e fored -

o T i e § @ g s % g R

Write the pure essence from three essences of the following each
part : 2x1=2

()  “Argrdn = wEOid: Hagmagrydl T |7
(i) 38 H9R 9T YUUREY: W 99: 314 3L 1 S |
(i)  HYTAl G 453 9 STEH |
(i) AU gaTTgR: T gal A |

(ID) 7 goiA: FHarafd w1s: ggawfy fremmor: |
i) e g g@aﬁaaﬁ:amﬁ |
(ii) Wgﬁ_—[: Tgd: Torereh: frferar wafa aar & am: wafd |
(i) goe: SH: Hed: Fuarfagfy: femmon: AU & w@we 7 @wld |
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AITARTT-TATRE 3T~ HoS[WRT: TTETEA e T qd

T o= | o[ <l gl | ek €= Wk
The prose-order-rendering of the following verse is given below.
Fill in the blanks with the help of the words given in the box below : 4><é =2

USRI, Joa-au T, HeaHT -G |

IS Wierde:, TSl glaumae: ||
HAY:
@) Tite: gl (i) EESCHIIN
(iii) fe=m (iv) |
'Flo_clt;GlT

TSN, FeAHTd, SIS, oo

F T IR @ R JeRE 98 Had $d
‘@ TN % I H @ TEH o AT o a1y Hae Hif

Match the sentences of column ‘% with the suitable sentences of
column @’ : 4><é =2

‘® Ty &’ Ty
(i)  TaEHsa fagmn  (31) i uree gaRed |
(i)  AhTY FEa agEdt (9)  fofafHa seaHsaE: |

(iii)  FOEmeEalster (|@) 0 @ A |

(iv) 3cHY 91 Aoy (3)  TTEEATHH-SERTRIETET |
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